EARAROBEEIERT — 2 N— IBISH —F

2019F986H (&) 13EEMH6H

m C1 #¥5%3®L BRI R
[A&4£] 1 7% :500,000 3 ~ 23#&:140,000 @ ~ 33#&:70,000  ~ 43#&:50,000™ . 5 3&:40,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= # o4 | TRE 1:30.6 5-5-62 |39.3| — 2 482 | BEAIEE (FEl)
118/9| L7+~ % 56.0 (=) () |M@HET
L:HIRT4 75X B:o-—¥L—X [ELAEEAIES
WL it 3 | ALRE 1:30.9 7-7-4-3 | 39.6| — 4 450 | KIFIER (FEldh)
2|7| 8| 73FYT 1T 54.0 (1172 Ca |REEET
LY yhaALvIL BiHI /IS EH T
\ = i o4 | NEEF 1:31.0 10-10-10-7 | 38.9 | — 8 450 |fEEHER (ER)
3 3 TFrT4 (3/4) +5) L2
R:ZbhAYTUE—2 BXY1—)b LI R4
K N 5 | BAKH 1:31.1 6-6-8-7 |39.8| — 7 425 | TEFZ (EA)
4 2| ¥ bUZNLyZ 540 (3/4) © | 48 g<sa—KL—va>
L:8—bMILRYIL B:q4>Ddy b AL
= =i o4 | ENEE 1:31.3 3-4-1-1 |40.2| — 1 518 | BiEXE (ER)
S 6 CiREAEEaink 56.0 3/4) Gy | ) iseoken
74NV KTy a2 B by THTHEL FHEMS
N N AR :31. —-8-9- . — EEFGR (EA)
6lsls 575127752 H o4 B 1(321)6 8-8-9-9 | 40.1 6 (4:; ey
RixFa1=dr—2 B:T7LI1TXFYR IVT5IT— LI
== 4 o4 | BEFE 1:31.7 9-9-7-5 |40.2| — 3 530 | VR (FEHR)
71111 Z71—/E—=F 56.0 (7E) © ETJEP;‘;:
L=V 74—X BA-RT74T747 #HREHt /-2
— 3 B 7 | AEE 1:32.1 1-1-2-4 | 41.4| — 10 | 492 |®FIEX (ES)
gl8|10|71FIv7 451.0 @ 1/2) () | BET
L4 Bz UYTa— e
D ; # g | FHE— 1:32.7 2-2-3-6 |41.8| — 9 463 | RIBIEE (EH)
9177 /7_{'7/3 [‘7* 54.0 (31/2) (-2) +BES
LKA R N=IN— B2 a901 HH B=
25— 4 4 | JIRE— 1:33.3 4-3-5-10 |42.2| — 5 483 | BEESB (HEH)
Eﬂ 4 XA T7ITIL 54.0 (3 1/2) +2) EBE];Z-?E
L:T—TT74=X BT/ TIVINR=F AT 7—L
® 1—F—@EBIERL
1T=7r= 10,7,6,4,9,2,8,5,1,3
20—F— 10,7,4,6,9,2,8,5,1,3
Ja=5= 6,10,7,8,4,9,1,2,5,3
40—F— 6,9,8,10,1,7,(2,3),5,4
[ N5
B 9 330H 714K 8-9 430 e E 7-8 840M JEE 3-8-9 7,120
B B 9 1509 3-9 1,730H B = 8-9 1,330 EE 9-8-3 29,260
8 240M 3-8 3,540/ B H 9-8 1,830/
8 570M

ABICOVWTRDTEEERROODE. TR LIV,




